
qr6rr_2.6(A)

qfusts{r irr qFr:- o}m € .rc.flr.n qt-{ qr.f 6r fiqfur (aqr{ e_oo fffio)

d< rJEqa
(T{ qarrf, TIt)

Q,"Uf\,
gT0g0, ofiolio

qErirm Jiilqflr.
qrorso,. ofiolao

dlqrra

o

!tclL::'l{

ry*d€l6rc

qq
*d.

{fi{rq

M,\s
lrfttitii

tildr 4l lalrt
+T qTq

qr fii
6T qTrI

q{ qlo
6t qtq

qftq]s+ +l EEE
ezl n)

N
(fre{ t)

t.taqe (to)

licltw? lnriFma g.:tvrfr 5'nqfi {fs & looo.oo 7.00

ftri]{Frts lirirT - s.T€ffi g{tvrff ro ]-:r-trro tg o.125

qg trw af{ o_825

2t

!!TX

0.700

.$I*-

ffrdr-



qIsq-2"6(B)

qRqt-mfl arT q1q: dfi d ,nsfl-{.rg qier qrf or Frqf"r (aqr{ s.oo ffio)
dE
(vr-u ft)

fu,ir 4t clrrt trc {rfu
6r qTq

.{q rdlo
4I qFI

lRdrs{r ft't d.qg
(fic{ t)

qM
ffie{ n)

elrro (io)

ftqtirts 5+<qft 5{rlnfr ils t( sooo oo 7.00

lieii{r,r6 ftsn{Frd 5{EIfi Tflqft ro fufwa tg 0.625

od {fsq 4.125

"efr
qTog0 cJofiolio

ffSdrc

rte

s6l{fi .3il!I{f,r,
qtoso,ArofiofAo

dferdz
$arros)#*o

{Asrc

crQ}'}

IIcts$oF{o
Sg6E

rFt

M

\l,6

22

FIen{Frd 3 500



,IE ftl
M

lidr irtr{fld <1T.F rqTal $0 trnT

{iFqT

qRfigTT

oli cErd
Ffre{ n)

M
(+da
t)

srqlia
el-;q;a

(to)

q-]TIId ficrk-ra T{t+0 Tre,tr

0.700 1Ii00.00 7.00 0.70t)

0.1 25 .ro Bqva t-g 0.125

{Iuq

Tfr
ftritrre 5lTqm T.riqrfr

i.5 00 5 000.00 7.00 3.5 00

0.625 roffiwafu 0.62 5

qtq cq .fi

7.00

4.950

TIq "ft treil-{FTa e.{rErc +S6[d 1.400 2000.00 1.400

oa ql-.r 6.350

146
IloEodofrolfdqq

ffi€rE

liol?o
ftlEre

mpo gFltr<r,
rroqo.aloFofto

*gt6rc

Ilolt€)€*o
&08

gflqrt

(\9a'e
sq-kft6

&a..*:t...,t
fudr-

!to'.6),^l.61ttrlWa I
FI

I

i
I

)1

qrsq-2.6(D)

qffisfl arT nrq:- slcn t fl$-{w dzr qrf sr l-{qfvr (aqr$ a.oo firfro)

d-s dqqd

-Ar^k
gI0g0,


